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4 DENEME SINAVI

INGILIZCE 1

Bu testte 80 soru vardir.

1. - 8. sorularda, climlede bos birakilan
yerlere uygun diisen sézciik ya da ifadeyi
bulunuz.

1. A bird-like dinosaur that roamed the Earth a
hundred million years ago is believed to have
used venom to catch its ----.

A) clay B) damage
C) denial D) prey
E) ground

2. To meet their calorie needs, teens should
choose a variety of ---- foods, such as lean
protein sources, low-fat dairy products, whole
grains, fruits, and vegetables.

A) tactless B) vivid
C) nutritious D) underlying
E) anonymous

3. Temperature increases will increase the
danger of forest fires and lead to longer fire
seasons, ---- in southern and central Europe.

A) deliberately B)
C) scientifically D)
E) instinctively

predominantly
delightfully

4. Statistics show that the nuclear industry is by
far one of the safest for workers as workers
wear protective gears which are ---- at regular

intervals.
A) confused B) anticipated
C) reduced D) abandoned

E) checked
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The majority of traditional language students
will never know that learning a language can
be fun when ---- the right way.

carried out
broken up

A) run over B)
C) got away D)
E) cometo

After the vehicle ----, a validation process ----
at the end of the assembly line to verify quality
audits from the various inspection points
throughout the assembly process.

has assembled / has been conducted
was assembling / had been conducted
has been assembled / is conducting

is assembled / is conducted

was assembled / had conducted

mooz2

By the late twentieth century, accidents ---- the
leading cause of childhood death in industrial
countries, but efforts to control them achieved
results and the rate of fatal accidents ----.

had remained / has been diminished
have remained / was diminishing
remained / will diminish

would remain / is going to be diminished
remained / diminished

mooz2

Losing yourself online can temporarily ----
feelings such as loneliness, stress, anxiety,
depression, and boredom ----.

get / disappear

make / disappear

have / to disappear

make / to have disappeared
get / having disappeared

mooz2
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30. Itis stated in the passage that the Mexican
29. - 31. sorulari asagidaki parcaya gére national culture ----.
cevaplayiniz.
A)  emerged from a peaceful competition
between the indigenous cultures and the
Americans
Mexican national culture slowly emerged from a B) was completely forgotten after Mexico
process of accommodation between the indigenous gained independence in 1821
cultures and the Spanish colonial domination that lasted C) was so rooted that it was not affected by
three centuries. Mexico gained independence in 1821. political instability, military uprisings, and
In the nineteenth century, the formation of the national foreign invasions
culture and polity remained a difficult task mainly due D) was forgotten when Mexico lost large
to political instability, military uprisings, and foreign portions of its original territory
invasions. In these years Mexico lost large portions E) has been affected by both the indigenous
of its original territory. Most important in this respect cultures and the Spanish colonial
was the war with the United States between 1846 domination
and 1848, which broke out when the US attempted
to annex independent Texas. The war ended with US
forces defeating the Mexican army. The 1848 peace €
treaty gave Texas, California, and New Mexico to the 8
US and reduced Mexico’s territory by half. Despite this -
tragic loss, the war did contribute to the development 'f
of a genuine nationalism for the first time. In 1853, =
in a contradictory decision, the Mexican government g
sold present-day southern New Mexico and Arizona -—
to the US in order to solve budgetary problems. The ;’
relationship between Mexico and the US has remained >
difficult and uncertain ever since. _8
©
=
=
=
29. Why does the author focus on the war with the 31. As one learns from the passage, the war
us? between Mexico and the United States ----.
A) It was thanks to that war that Mexico sold A) lasted more than three centuries
southern New Mexico and Arizona. B) broke out because Texas preferred to be a
B)  Itis what cost Mexico half of its land and part of Mexico
they still have a complicated relationship. C) made it possible for Mexico to sell New
C) It has no relation to the uncertainty of the Mexico and Arizona at a better price
relationship between Mexico and the US. D) started when the Americans wanted to take
D) It brought about many other wars that possession of Texas
Mexico couldn’t survive without giving away E) ended when the budgetary problems
some land. of the Mexican government became
E) It was just after the Spanish colonization unmanageable
and Mexican people suffered a great deal.
Dilko Yayinlari 73 QUESTION BANK - DENEME SINAVLARI
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61. A potentially deadly fungus is spreading

S e b T

getirilebilecek ciimleyi bulunuz western US and Canada. The tropical fungus

) causes lung infections and even meningitis,
but can be treated with antifungal drugs. ----
59. ---- News writers work for newspapers or news Now, however, a new and particularly virulent
broadcasts. Columnists write about people, strain is affecting respiratory symptoms
places, and things in their own country and and causing meningitis in otherwise healthy
around the world. Technical writers are in people. Though currently found only in
charge of providing information on how to Oregon, experts fear the strain will soon

use a machine or how to do something. The spread to neighbouring regions.

group of writers known as copy writers are

responsible for writing advertisements. A) Inthe past, it mainly caused disease in

people with AIDS.

A) Before a writer begins to write, he gathers B)  Newly published findings regarding adult
information first related to the subject he has mortality highlight the widening gap.
chosen. C) Death rates were highest for men in

B) A writer or editor must have a college = Swaziland and for women in Zambia.
degree in order to find a decent job. o D)  Alcohol consumption during pregnancy is

C) Ingeneral, there are different writing o commonly associated with it.
schemes, and thus there are different kinds E) It performs an essential role in the
of writers. = decomposition of organic matter.

D) As human societies emerged, the o
development of writing was driven by c
different factors such as exchanging -
information and recording history. @©

E) Historians draw a distinction between Z‘
prehistory and history, with history defined  x
by the advent of writing. =

T 62. A South Korean naval ship sank near the
= disputed maritime border with North Korea
= early Saturday, raising fears of an attack by
60. Obesity is usually caused by a poor diet = the North. An unexplained hole in the bottom
and lack of exercise, but there are some of the ship, which was on a routine patrolling
medical causes for the problem. ---- There mission with the crew members on board at
are also certain medications that add weight the time, caused the vessel to take on water.
when taken, such as steroids and certain ---- But there have been reports that the ship
antidepressants. Quitting smoking can also was damaged by an explosion. South Korean
contribute to weight gain. rescue vessels that were rushed to the area
were unable to save some of the sailors.

A)  Especially if you're concerned about weight-
related health problems, you should see A) ltis early to conclude that the sinking
your doctor or health care provider. resulted from an act of aggression.

B) Obesity is diagnosed when an individual’s B)  As aresult, most of the similar cases in the
body mass index is 30 or higher. region remain undiagnosed.

C) These are rare, but conditions such as an C) They lowered a video camera into a narrow
underactive thyroid may be the cause of hole to look at it.
obesity. D) It has been identified as belonging to a

D) Even modest weight loss can lessen or previously unknown type.
prevent problems related to obesity. E) The discovery raises the possibility that they

E) Insome cases, prescription medications or all survived.
weight-loss surgery may be options.
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16. - 20. sorularda, asagidaki parcada
numaralanmis yerlere uygun diisen sézcuk
ya da ifadeyi bulunuz.

21. - 28. sorularda, verilen ctimleyi uygun
sekilde tamamlayan ifadeyi bulunuz.

Since the beginning of humankind people have

(16) ---- primarily on plants for nourishment. (17) ----
trial and error, they discovered that some plants were
good for food, that some were poisonous, and that
some produced bodily changes (18) ---- increased
perspiration, bowel movement, urination, relief of pain,
hallucination, and healing. Over the millennia, these
observations have passed orally from generation to
generation, with each generation (19) ---- to the body

of knowledge. (20) ---- culture over the world has in this

manner developed a body of herbal knowledge as part

of its tradition.

16.
A) watched
C) stood
17.
A) Beyond
C) Across
18.
A) meanwhile
C) owing to
19.
A) to add
C) added
20.
A) Every
C) Most

B) carried

D) depended
E) used

B) Through

D) Within
E) Into

B) regardless of

D) by means of
E) such as

B) adding
D) to have added
E) to have been added

B) Each of
D) Many
E) Several
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21. Andy’s reaction to what was said about the
war was possibly ----.

A) affected the way people around him
behaved

B) that was the worst action taken up to that
time

C) although the effects of wars are still felt in
many parts of the world

D) who defended his opinions very vigorously

E) due to the fact that he doesn't like talking
about violence-related issues

22. Regardless of how hungry the tourists felt, ----.

A)  sothey were served a good amount of food
by the restaurant

B) they refused to eat the traditional food
offered by the locals

C) that they cooked themselves fish and beef is
the hotel where they were staying

D)  but the amount of food they wanted was
very high

E) when they stopped to eat some traditional
food

Dilko Yayinlar
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60. Scuba diving offers a wonderful way to view 62. Swan Lake is one of the most famous ballets
the intriguing underworld of any ocean or ever performed and has been reproduced in
lake. ---- Such classes can help newcomers many countries throughout the world. ---- He
prepare for the dangers they may encounter. was a famous composer of ballets and his
Advanced certification classes are also other works included Sleeping Beauty in 1889
available to help experienced divers to and The Nutcracker in 1892.
continue to gain more scuba diving knowledge
and experience. A)  He was the first Russian composer

whose music made a lasting impression
A)  While some divers enjoy diving in lakes, a internationally.
few will explore a river. B) Some of these are among the most popular
B) Some descend into the depths of the waters theatrical music in the classical repertoire.
for commercial, scientific, and military C) Therefore, there are very few records
purposes as well. concerning the first production of the work to
C) Divers wear equipment that allows them have survived.
to stay below the water’s surface for long D) There is much controversy over the origin of
periods of time. it.
D) To be a competent scuba diver, one should = E) Pyotr Tchaikovsky wrote it in 1876, and its
take a scuba certification class offered ata o debut performance was in 1877.
wide array of diving schools worldwide. o
E) All scuba divers wear and use the same ~
general equipment, though some people in =
colder areas will add extra equipment, as o
well. c
>
®©
>
o
X
©

61. The difference between a sea and a lake has ; 63. ----In 2010, world production of wheat was
not always been so clear, and consequently = 651 million tons, making it the third most-
many have been misnamed. ---- The Caspian 2 produced cereal after maize and rice. Wheat
Sea, which lies north of Iran and east of was the second most-produced cereal in 2009.
Turkey, is a landlocked body of water World production in that year was 682 million
considered temporary because it does not tons after maize.
empty into an ocean, nor is it fed by one.

A)  This grain is grown on more land area than
A)  The actual level of the sea is constantly any other commercial food.
changing as tides rise and fall. B) Wheat is a cereal grain cultivated worldwide.
B) It moderates the Earth’s climate and has C) Interms of total production tonnages used
important roles in the water cycle. for food, it is currently second to rice.
C) Infact, the largest lake in the world is D) Recent findings, thus, narrow the first
labelled a sea by its own name. domestication of wheat down to a small
D) The ancient inhabitants of its coast region of south eastern Turkey.
perceived it as an ocean. E) Cultivation of wheat began to spread
E) It became landlocked about 5.5 million years beyond it after about 8000 BC.
ago due to tectonic uplift.
QUESTION BANK - DENEME SINAVLARI 202 Dilko Yayinlari
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64. - 69. sorularda, verilen ingilizce ciimleye
anlamca en yakin Tiirkce climleyi bulunuz.

64. Although many dentists frequently suggest
using a soft-bristled tooth brush, most people
generally do not follow that advice.

A)  Disciler siklikla yumusak killi bir dis fir¢asi
kullanmay1 dnerse de, insanlarin ¢ogu bu
tavsiyeye uymak istemez.

B)  Pek ¢ok disci siklikla yumusak killi bir dis
fircasi kullanmay! énerir fakat insanlar
genellikle bu tavsiyeyi ciddiye almaz.

C)  Pek cok disci siklikla yumusak kil bir dig
firgasi kullanmayi énerse de, ¢cogu insan bu
tavsiyeye genellikle uymaz.

D) Pek ¢ok disci yumusak killi bir dis fircasinin
kullanimini énerir ama insanlarin gogu bu
tavsiyeye uymaz.

E) Disgiler siklikla yumusak killi bir dis fir¢asi
kullanmayi dnerse de, insanlarin cogu
bunun aksini yapar.

65. Atmosphere, which contains oxygen used by
organisms for respiration, also protects living
organisms from the sun’s ultraviolet rays.

A)  Atmosfer, organizmalar tarafindan solunum
icin kullanilan oksijeni igerir ve ayni
zamanda canli organizmalari glinesin
ultraviyole isinlarindan korur.

B)  Organizmalar tarafindan solunum igin
kullanilan oksijeni iceren atmosfer ayni
zamanda canli organizmalari glinesin
ultraviyole isinlarindan korur.

C) Organizmalar tarafindan solunum igin
kullanilan oksijeni iceren atmosfer ayni
zamanda giinesin ultraviyole i1sinlarini da
engeller.

D)  Solunum icin gereken oksijeni iceren
atmosfer canli organizmalari da giinesin
zararl ultraviyole 1sinlarindan korur.

E) Canli organizmalari glinesin ultraviyole
isinlarindan koruyan atmosfer solunum igin
kullanilan oksijeni de igerir.

www.dilkoyayincilik.com

66.

Hippocrates, considered as the father of
medicine, stated that diseases are natural
occurrences and are not caused by some
external forces like gods.

A)  Tibbin babasi olarak gérllen Hipokrat,

hastaliklarin dogal olusumlar oldugunu ve
tanrilar tarafindan kaynaklanmadigini ifade
etmistir.

B)  Hipokrat tibbin babasi olarak gérilmektedir
ve hastaliklarin dogal olusumlar oldugunu
ifade edip onlarin tanrilar gibi bir takim
harici gicler tarafindan kaynaklanmadigina
inanmgtir.

C) Tibbin kurucusu olarak gérilen Hipokrat,
hastaliklarin dogal olusumlar olduguna
inanmistir ve ona gére hastaliklar tanrilar
gibi bir takim harici gugcler tarafindan
kaynaklanmamistir.

D) Tibbin babasi olarak goriilen Hipokrat
hastaliklarin dogal olusumlar oldugunu ve
tanrilar gibi bir takim harici glgler tarafindan
kaynaklanmadigini ifade etmistir.

E) Tip dunyasinda énemli bir yere sahip
olan Hipokrat, hastaliklarin dogal surecler
oldugunu ve tanrilar gibi bir takim harici
gugler tarafindan kaynaklanmadigini
belirtmistir.

Dilko Yayinlar
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N 78. () There is a wide array of elements that
76. - 80.Vsorularda, camleler s|ra§|¥Ia e affect consumer behaviour. (ll) These
okunduqunda_parganm anlam butanltgind factors are typically divided into internal or
bozan cumleyi bulunuz. external motivations. (lll) On the other hand,
environmental factors are another external
element that can affect consumer behaviour.
76. (I) Ferrari is an Italian sports car manufacturer (IV) Some of the most common motivators
based in Maranello. (Il) Founded by Enzo Ferrari include social and economic factors. (V) Indeed,
in 1929, as Scuderia Ferrari, the company marketers often use information from areas of
sponsored drivers and manufactured race sociology and economics.
cars before moving into production of street-
legal vehicles as Ferrari S.p.A. in 1947. (Ill) A) | B) I Cc) D) IV E) V
Throughout its history, the company has been
noted for its continued participation in racing,
especially in Formula One, where it has had great
success. (IV) Ferrari road cars are generally seen
as a symbol of speed, luxury and wealth. (V)
Then, Fiat acquired 50% of Ferrari in 1969. £
A) 1 B) Il C) D) IV E) V 8 79. () The ozone layer forms a thick layer in
~ stratosphere, encircling the earth. (ll) It protects
= our planet from the harmful radiations that comes
o from the sun. (Ill) It was discovered in 1913 by
c the French physicists Charles Fabry and Henri
- Buisson. (IV) The ozone is a highly poisonous
® gas. (V) Later, its properties were explored
Z‘ in detail by the British meteorologist G. M. B.
X~ Dobson.
© A) | B) I Cc) D) IV E) V
=
=
=
77. () Capitalism is a socio-economic system 80. (I) A meteorite is a stony or metallic mass of
that allows private owners to profit from the matter that has fallen to the earth’s surface from
goods and services they provide. (II) One of outer space. (ll) Virtually all meteorites contain
the cornerstones of this system is the right of some amount of iron and nickel. (lll) Meteorites
the individual to choose what to produce, how are classified according to how much iron they
to produce it, and what price to sell it for. (llI) contain. (IV) Iron meteorites contain the most,
For example, it caused a financial crisis in the followed by stony iron meteorites and stone
beginning of the 19" century. (IV) It is popular in meteorites. (V) Then, it becomes intensely
nations that value the freedom of the individual heated in the atmosphere.
over the stability of the society. (V) Most modern
nations use some form of capitalism, such as Al B) Il C) D) IV E) V
state, corporate, or social market.
A) | B) I C) D) IV E) V
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